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e Psycholinguistics-Dr. Ibrahim Almahboob
e Lecture 12-The Hearer

The hearer’s taskgaiwal) daga

e The hearer’s task is almost the mirror image of the speaker’s task.
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e First, using information from the acoustic signal, the hearer
reconstructs a phonological representation.
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e The hearer enters the lexicon using that phonological
representation to retrieve the lexical items that match.
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e This permits the hearer to recover the semantic and structural
details of the words in the message
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post-access matching 4&thaal) Jga g 22y

e After a word has been retrieved, its full phonological
representation is checked against what has been heard.
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e This is called post-access matching. If the match is good enough,
the word is accepted as correct and the full phonological
representation from the lexicon becomes the percept.
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CLOCK [] DOCTOR [] ZNER [] FLOOP []
SKERN [] NURSE [] TABLE [] FABLE []
BANK [] TLAT [] URN [] MROCK []
MOTHER [ ] PLIM [] HUT [] BAT []

Impossible non-words and possible non-words

e You probably wrote N next to six of the letter strings, and might
have even noticed that you responded to three of them very
qguickly — TLAT, ZNER, and MROCK — and to the other three
somewhat more slowly — SKERN, PLIM, and FLOOP.
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e All six strings are non-words in English, but the first three violate
the phonotactic constraints of the language.
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e Impossible non-words, like TLAT, ZNER, and MROCK, are
rejected very rapidly in a lexical decision task.
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e Itis asif the lexical retrieval system were carrying out a
phonological screening of sorts, not bothering to look in the
lexicon when the string is not a possible word in the language.
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e In contrast, possible non-words, like SKERN, PLIM, and FLOOP,
take longer to reject, as if the retrieval system conducted an
exhaustive, ultimately unsuccessful, search for their entries in
the lexicon.
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The cohort model of lexical access

e A word’s cohort consists of all the lexical items that share
an initial sequence of phonemes.
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e According to the cohort model, acoustic information is
rapidly transformed into phonological information, and
lexical entries that match the stimulus phonologically are
activated.
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A word's neighborhood - sl 2 4als -

e A factor that affects retrieval times for words is
neighborhood density.
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e A word's neighborhood consists of all the lexical items
that are phonologically similar.
4l Al ezl palinll 488 e (5 35 neighborhood 4<1S o
.phonologically
e Some words have larger cohorts than others: the word cot
has many words that are phonologically similar to it, so it
is said to come from a dense neighborhood; in contrast,
the neighborhood for a word like crib is less dense.
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